
LIKE

W80A-150-070W-A 
W80A-170-070W-A

WMA-W80A-150-070W-A

RUS



2

-

-

-

-

-

-

• -

• 

• 

• -
-

• 

-

-
-



3

W80A-150-070W-A 
W80A-150-070W-P 
W80A-150-070W-R

W80A-170-070W-A 
W80A-170-070W-P 
W80A-170-070W-R

Like 
W80A-150-070W-A 
W80A-170-070W-A 

 RUS 

ВНИМАНИЕ! Не  рекомендуется использование шторки Like W80S-100PS-150MT



4

666

591
504
322

55

52

32
239
2

75055

1326
1104
973

44
8

36
9

250

125°

1405 54

28

40

1499
70
0

10

1614

28
4

44
6

38
44
9

28
8

46

57
2

55

844 282

39
0

1036

1229

1507

35
2 125° 52

32
8

673

464

285

55

70
2

1704

52

40



5

1

9
8

11

5

3
4

15

16

13

12

6

2

14

7

10

19

1820

Bathtub components

01 bath ×1

Fron pane components

02 front panel ×1

03 bracket for shelf ×2

04 ×2

05  3,9 1 ×2

06 decorative cap ×2

07 bracket - ×2

08 washer 12 12 ×4

09 nut M12 12 ×4

Meta fram components

10 metal frame ×1

11 nut M12 12

12 washer 12 ×8

13 leg ×8

14 ×4

15 stud M12 12 ×4

17

18 dowel 8x40  8 40

19 DIN571 screw 
5x40  5 40



6

9

3

8

6

10

4 52

7

161413

11

1512

1817 19

Metal frame components

10 metal frame ×1

11 nut M12 12 ×22

12 washer 12 ×12

13 leg ×10

14 ×4

15 stud M12 12 ×4

16 stud M12 12 ×2

17

18 dowel 8x40  8 40 ×6

19 DIN571 screw 
5x40  5 40 ×6

Bathtub components 170

01 bath ×1

Front panel components

02 front panel ×1

03 bracket for shelf ×2

04 ×2

05  3,9 16 ×2

06 decorative cap ×2

07 bracket - ×2

08 washer 12 12 ×4

09 nut M12 12 ×4



7



8



9



10



11

1
0

-1
9

 m
m



AM.PM Europe GmbH  
Torstrasse 177 D-10115 Berlin
www.ampm-world.com 01/2020

700

300

500

350

400

1700




